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&5 X 4 Er%r'n? —Fﬁﬁ“ﬁﬁ‘(i)@}iﬁﬁﬁ jj(:ifn?)é X 4 'Fﬁn“ﬁéézg;kilz ‘(.%,r'na;f jj(&?tmé)é X 4 E.%,r'na‘; J:ﬁn“ﬁb\(if)tt‘.%‘ jj(&?tmé)é X 4 J:ﬁﬁ;ﬁ\(i)d)tt?%‘ '(r%r'n? jj(:igcnié
1 100kN/m#%#8%% | 1.00 | 0.00 ~ 297 | 14714 |3m%x#B%%| 000 ~ 1.82| 38.756 20.08 | 100kN/m%#Bz25 | 1.00 | 11.16 ~ 94.12| 147 14 |3mZE#BZB| 2000 ~ 9412] 3.75 20.08
s 1.00 | 297 ~ 1075 100.00 | ZnLAS | 1.82 ~ 1075| 3.00 16.05 Thlst 1.00 | 5.00 ~ 1116 100.00 | THLSt | 5.00 ~ 40.00 | 3.00 16.05
2 100kN/m%#8x5 | 1.00 | 0.00 ~ 5.11 149.51 |3m#%#Z 5| 000 ~ 188 3.79 20.27 | 100kN/mZ#Bz25 | 1.00 | 11200 ~ 9470 | 149.51 |3mE#BZB| 2000 ~ 9470 3.79 20.27
s 1.00 | 311 ~ 1089 100.00 | EnLLASt | 1.88 ~ 1089 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.00 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
3 100kN/m%#8x25 | 1.00 | 0.00 ~ 3.18 150.78 |3m#%#Bz 5| 0.00 ~ 191 | 3.81 20.37 | 100kN/miZ#8z25 | 1.00 | 1092 ~ 9470 | 150.78 |3mE#BZB| 40.00 ~ 94.70 | 3.81 20.37
s 1.00 | 318 ~ 1096 100.00 | ZnLLASt | 1.91 ~ 1096| 3.00 16.05 Thlst 1.00 | 5.00 ~ 1092 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
4 100kN/m##8x5 | 1.00 | 0.00 ~ 5.11 149.55 |3m%#BZ5| 000 ~ 188 3.79 20.27 | 100kN/m%#Bz25 | 1.00 | 11.00 ~ 9440 | 149.55 |3mZE#BZB| 2000 ~ 9440 3.79 20.27
s 1.00 | 311 ~ 1089 100.00 | ZnLASt | 1.88 ~ 1089 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.00 100.00 | =4t | 5.00 ~ 40.00 | 3.00 16.05
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEEBZD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3ImEEZD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~

B
H
|




